Suggestions for Internal Assessment

B.Com Sem 1 ( Hons & Gen).
Statistics

Arithmetic Mean

1. The algebraic sum of the deviations of 25
observation measured from 45 is —-55. The
A.M. of the observation is—

(a) 42.8 (b) 42

(c) 44.4 (d) 44.

25 & AATIHTI 45 (T LIy AT
FretfdfdF rma—55 1 sfEwsfeR (@
1G TA—

(a) 42.8 (b) 42

(c) 44.4 (d) 44,

2. The arithrnetic mean of 14, 16, 19, 25 and
21 Is-

(a) 95 (b) 19
(c) 59 (d) 91.
14, 16, 19, 25 € 21 -7 (VT TGF TA—
(a) 95 (b) 18
(c) 59 (d) 91.
3. The arithmetic mean of the number 135
........... (2n-1) is-
(a) n? (b) 2n
(c) n (d) 2n2.
T —— (2n-1)3 (AT 1T ZTFT—
(@) n® (b) 2n
(c) n - (d) 2n%

Geometric Mean

4. The geometric mean of 3, 12, and 48 is-

(@) 12 (b) 144
(c) 1728 (d) 6.
3, 12 €348 -9 Yrred T [q—
(a) 12 (b) 144
(c) 1728 (d) 6.

5. The Geometric Mean of 1, 3 and 9 is-
(@) 9 (b) 3
(c) 1 (d) 27.
1, 3 R 9 GF YT LG MC T—
(@) 9 (b) 3
(c) 1 (d) 27.

6. The Geometric Mean of 2, 9 and 12 is-
(a) 2 (b) 9
(c) 6 (d) 12.
2, 9 G 12 TSR Lol % T—
(a) 2 (b) 9
(c) 6 (d) 12.

7. The Geometric Mean of 6, 24 and 12 is-
(a) 24 (b) 12
(c) 6 (d) 144.
6, 24 GR 12 AT SJTeIET NG T —
(a) 24 (b) 12

(c) 6 (d) 144.



8. The median of the numbers 3, 9, 7, 4, 8

2.

and 6 is-

(@) 5.5 (b) 4.5

(c) 6.5 (d) 8

3,9,7, 4, 8 G 6 MUFH-97 Wyw TT—
(@) 5.5 (b) 4.5

(c) 6.5 (d) 8

The value of median of the numbers 95,
33, 85, 67, 32, 81, 48, 69 is-

(a) 68 ~ (b) 56.5
(c) 63 (d) 67.

95, 33, 85, 67, 32, 81, 48, 69 FAYfe1-=
TR TF Zo7—

(a) 68 (b) 56.5
(c) 63 (d) 67.
10. The median of the numbers 1 2; 3

........... 10 is—-

(@) 6.5 (b) 5.5

(c) 4.5 (d) 7.5

179, 8. 008 10 RAYfeA-97 gt go—
(a) 6.5 (b) 5.5

(c) 4.5 (d) 7.5

11.

The median of the numbers 33, 39, 37, 34,
38, 36 is—

(a) 36.5 (b) 35.5
(c) 36 (d) 33.5
33, 39, 37,34, 38, 36 FRUN5Jfe1-YT TN TeT—
(a) 36.5 (b) 35.5
(c) 36 (d) 33.5

12.

13.

14.

The mode of the numbers 4, 3, 2,5 3 4
5 3,7,3, 2,6 is—

(a) 3
(c) 2

(b) 5

(d) 8
4,3,2,5,8,4,5,8,7, 3, 2, 6 R
TRAYY TA—
(a) 3

(c) 2

(b) 5

(d) 8

The value of Mode of the numbers 4,3, 2,
5,3,4,51,7,32,1 is-

(@) 5 (b) 4

(c) 3 (d) 1

4.3,2,5,3,4,5,1,7,3,2,1 sRioffera
M eg—

(@) 5 (b) 4

(c) 3 (d) 1

The extreme values have effect on
mode-

(a) High (b) Low

(¢) No

(d) None of these.

RRRELRAID E A £ S C T S—
(a) T%

(b) ==
(c) T (d) IR bR
The median of the Numb
4 B b Mmbers 21, 49, 37, 88,
(@) 55 (b) 52
(c) 38 (d) 49
[ 21, 49, 37, 88, 74, 55 W%ﬂm‘{[%m TN e —
(@) 55 (b) 52
(c) 38 (d) 49



16. The Standard Deviation of 4, g, 10, 12, 16

will be:

(a)16 (b) 4

(c)14 (d) 15

4.8, 10, 12, 163rfi’ref?iwmvnqrwm_
(a)16 (b) 4

(c)14 (d) 15

17. Two variables x and y are related by y =
10 - 3x. If the S.D. of x is 4, what the S.D.

of v will be:
(a)10 | (b) 144
(c)12 (d) 11

x @Ry =10 - 3x 5T 4G x 0@ | 7 x-
43 T ALY 4, 2, OT Y3 o 2114 Tra—
(a)10 (b) 144 '

(c)12 (d) 11

18. If in a distribution n = 10, Sx = 20, Sx2 =
200 then the value of S.D will be:

(a)16 . (b) 6

(c)12 (d) 4

I 93 RIS n = 10, =x = 20, Zx? = 200
T, O E Ay FA—

(a)16 (b) 6
(c)12 (d) 4

19. The S.D of 1,5,3,8,2 will be: -~
(a)2.48 (b) 2.84 ..
(€)2.76 (d) 2.67
1,5,3,8,2 93 A9 ANLIT —
(2)2.48 (b) 2.84
(c)2.76 (d) 2.67

20. Ify =24 - 7x and if standard deviation of
X is 5, then find the standard deviation of

y.
(a)32 (b) 35
(c)36 (d) 38

21. The standard deviation of 2, 4, 5, 6 and 8

will be:

(a) 4 (b) 6

(c) 2 (d) 8

2, 4,5, 6 GR 8 I3 TS *{1efq] TA—
(a) 4 - (b) 6

(c)2 (d) 8

22. If y = 12 - 5x, and if standard deviation of
x is 7, then the standard deviation of y

will be:
(a) 28 (b) 30
(c) 32 (d) 35

IMy =12 - 5x G2 X -mwmﬂw?ww
y G HATE A1 TA— |

(a) 28 (b) 30

(c) 32 (d) 35

23. The standard deviation of the numbers
49,63, 46, 59, 65, 52, 60,54 will be:

(a) 6.364 (b) 6.634
(c) 6.463 (d) 6.643

49, 63, 46, 59, 65, 52, 60, 54 SRR T
e TAT—

(a) 6.364 (b) 6.634

() 6.463 (d) 6.643

24. Two variables x and y are related by y =
14 - 3x, If Uy=9, find o _will be:

(a) 3 (b) 9

(c) 6 (d) 12

X 8 y 5613 MR y = 14 — 3x 71 A 23
43} 0,=9 T2 0, I—

@3 (b) 9
(c) 6 (d) 12
25. The S.D of the following data will be:
9,7,5, 11, 3 |
(a) 2.87 (b) 2.83
(c) 2.97 (d) 2.67
TS oefe s A == — 9, 7, 5, 11, 3
(a) 2.87 (b) 2.83
(c) 2.97 (d) 2.67



26. The co-elficientdf variation when Varjance

_ 4 and Mean = 40 28. ::3 Tt?r?:n'gec:(g':;liﬁ';e?f variation = 15%
(@) 15% (b) 20% (8) 13.67 (b) 13.03

() 10% (d) 5% (c) 13.33 (d) 12.33
w(variance)=4kﬂi"f‘5=405\3ﬁm (SAI% = 16% 4R (7 = 4 & @S 51T
& T —

() 15% (b) 20% (@) 13.67 (b) 13.03

() 10% (d) 5% , ] (c) 13.33 (d) 12.33

27. The mean if C. V. = 5% and variance = 4

will be: | : { 29 If n=20 2.x= 60, ¥ x*= 500, then C.V.will
(a) 40 (b) 50 Y be:

£} o ) 85 (a) 75% (b) 1331

ToN% = 5% R (SHA = 4 230 G To— (©) 60% d) 50%

(a) 40 (b) 50 _

(c) 60 (d) 55




30. The value of Geometric Mean of two num-

bers 4 and 9 will be- 33.

The Harmonic mean of the number 18, 25
(a) 9 (b) 6 and 30 is-
() 4 (d) 36. (a) 23 (b) 23.27
4 G 9 IR O TNGT T 07 — (c) 22.25 (d) 18.
(a) 9 (b) 6 18, 25 @32 30 Ftefery RAE A5 o1 25—
(c) 4 (d) 36. (a) 23 (b) 23.27
31. The Geometric Mean of 3 numbers 2, 9 (c) 22.25 (d) 18.
and 12 will be- 34. |If the A.M. and G.M. of two numbers are
(a) 6 (b) 4 respectively 8 and 6, then the H.M will be—
(c) 3 (d) 1. (a) 6.9 (b) 4.17
2, 9 R 12 3 FoABA oJretras w1 2a— (c) 4.5 (d) 10.67.
(a) 6 (b) 4 T 6 IR CTANE T R TSR 51 T
©) 3 @ 1. | 8 U 6 T, OIZe [RA#IAT® SITeA T I—
32. The geometric mean of 6, 9, 36 and 54 is- | )50 (0) 417!
(a) 18 (b) 9 | (c) 4.5 (d) 10.67.
(c) 36 (d) 54.
6, 9, 36 ¥ 54 AN TNET AT TF—
() 18 (b) 9

(c) 36 (d) 54.



